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4.3+ 94 &9 9,482 5,520 3,962
1. 31389 9,482 5,520 3,962
1.[z]ugdmstA 4 5,982 5,520 462
1. g Hk=8H 4,320 4,320 0
2.8 F 79 1,662 1,200 462 | AFEZAE T YT ¢ 462,0009 1T = 462,000
2. [z]dFEH A FHNA 3,500 0 3,500
1.7 e 150 0 150 f];i ?_E—@V‘M?%M%) + 50,0003 150,000
2. 995 568 0 568 ;;i%g‘jo;jiigfi% E S 568,000
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A4 20249 099 13 164] 248 50% 18 AREAZAAN WY HA xS 5




2024 A% A = ol A A A
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2. BARFAL LA 13,319 13,319 0
% ;%%]L% A9 TEaw 2 AA 7.500 7.500 0
1.3719% 6,000 6,000 0
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2. [F 1AL AEAZ0 A 1,839 1,839 0
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4. Y EA N 100 100 0
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2. A1 A 74 80,908 66,523 14,385
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3T aT 8,124 6,124 2,000/ A3 200,0009%10L= 2,000,000
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1. g RkE8-H| 960 960 0
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7. 2N BE LD 300 300

1. Qukgn) 300 300
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1. 35221714 3,500 3,500
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2.3t 1,000 1,000
L[z]3H s ed 1,000 1,000

1. G981 1,000 1,000
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1.[Z]dn] ] 2,500 2,500
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